S T AR e S TR A

)

NBD

1. A startup business wag init:
Was initiated by ap entrepreneur by investing ¥ 1,40,000-

His friend joined him afier SiX months with an amount of ¥ 2,10,000-
Thereafter an angel investor joined“ﬁ‘iem with ¥ 2,80,000 after another six
n‘lonths. \‘Nhét should be the ratio of distribution of total earnings, three years
since beginning of business among gh@éhéﬁi,'ﬁi’s' friend and angel investor ?
(A) 7:6:10 \’%12:15:16 b0 O

(C) 42:45:56 ' (D) 2:3:4 e '

2. The sum of three numbers is 98. If the ratio of the first to second number is

2 : 3 and that of the second to third is 5 : 8, then the second number is

4 20 (B30

© 48 (D) 58
+b 1, |
3. i log%—=§(loga+log b), then the value of ~%+2will be \ \O - ’
(A) 12 | Ub) 14 W &
. W
(C) 16 (D) 8
} If 4% = 5Y = 207, then z is equal to
[x-ﬁ}{! L\—le< gk; =X - 207 - 1
(A) xy ® Ty \ "
Wegt € -rd TR0l
L _xy
© % W(.H—y) Vo \
N S

5. 1fZ 58 is divided among 150 children such that each girl and each bov gets

25 p and 50 p respectively. Then how many girls are there ?

(A) 52 B) 54 \ >
\_/KS 68 (D) 62 ¢ ) gL ¢
RC+ SO = VSH NBD ) ) vi‘j?
SH+s50 - Vo ! 7

2%% ATo = 1Co
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6.  Puru gets on the eley

ator at the 11" floor of a building and rides up at the rate
of 57 floors pe

U minute,

51°
At the same time, Ishu gets on an elevator at the’rﬁIf
Wy e .~ inute.
floor of the same building and rides down at the rate of 63 floors per minu ,)
they continue travelling at these ates, then at which floor will their paths cross

Q@ 17 B) 19 &2
©) 27 § 30 L~ 5 -
7. The quadratic equation 232 ~\[5x + 1 = 0 has

(;2)/ Two distinct real roots
) _

(B) Two equal real roots
No real rootg

(D) More than two real roots

8. For €quation x3 — 632 4 5, 12 = 0, the product of two roots is 12. Wh

correct set of roots of the equation ?

B) 1,6,2
(D) -1,-6,

ich of

the following is
(A) l, —33 —4

[LF -1,3,4

9. On solving the inequalities 6y ty218,x 4 dy > 12,

2x+y > 0 Which of the
following are correct solutions ?
(—({: 0,18), (12, 0), (4, 2) and (2, 6)

(B) (3,0, (0, 3), (4, 2) and (7, 6)
(C) (s, 0), (0, 10), (2, 4) and (2, 6)
(D) (0, 18), (12, 0), (4, 2) and (0, 7

10. The longest side of g triangle iy 2

timey the
4 ¢m shorter than the longest

shortes

| . side and the third side is
side, |y the Petimeter

e of the trangle ;

61 cm, find the minimum length of g, Shortest side b
(A) 7em B) 9¢p

(€) 1lcem ( 13 em

(3 scanned with OKEN Scanner
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11. A sum of X725 i Jep in the be

ginning of 4 year at a certain rate of simple

» A Sum of ¥ 362.50 more. ls lent but at the rate tWICe
of th ye

interest. After 8 monthg

the former. At th
‘ / ° end ar, ¥ 33,50 is carned as interest from both the
loans. What was the mlgmal rate of interest ¢

(A) 3.6%
(B) 4.54%

o3 46%
LorT346% (D) 4.12%

12. There is 60% increase in amount in 6 years at simple interest. What Wi,u,b,? the
compound interest of ¥ 12,000 after three years at the same rate ?
W F2160 T @) z3a0 L "
33,972 (D) % 6,240 - Yae:
| o6 =~

NeX A |
13. The effective annual rate of interest corresponding to a nominal rate of 6% per
S annum payable half-yearly is ‘ | ;
(4), eioce ®) 607%

(C) 6.08% o | Mw%

14. The compound interest on a certain sum for 2 years at 10°o per annum 18

7 525. The simple interest on the same sum for double tlu tlmc \t \mlt the rae
e — = .

[’)CFC(:nt pcr annum i8 P | \
<232, 500

(A) 2400 4
Cy 2600 U7 SR (D) t800 \ oy

“an investment of T 7,000 compounded quarterly at
[Ciiven that (1.025)! = 1.34489)

(B) T7435 71

15. Find the future value of
& 10% per annum for 3 years:
/Mmm,zo A
(D) T 8,000.00
(€) T7.941.42 .

) o T NeD

\ (

C V ? / s e P L U 13,5 -
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alle | 2 for the next 3 years towards

th
16. Raju will pay instalments of T 3,150 per moﬂn " d m onthly, what \)»vas( the
his loan at an. \n_interest rate 12.4%, d'S:?cO',J /,I,.,»_»
approximate amount of loan taken mltmll)’ Xand )
[Given that (T ()1033)36 = 1 448] 0142 29//./; 1 S0 o
(A) T13,683.60 - ® T o O-12¢
AT 9434517 D) IT4I2 22 Puoo
t annual
| for 5 years, at 10 PeTCelz ==
17. Shiv deposits ¥ 10,000 annually in a bank 10 ;n%t—;’value of this series f

appro
compounthe Calculz}fe the app! urs e beg inning 5 of the

deposits at the end of five years, if each dePOSlt i —

T ———— .
. = -

ear.
61,0_50 ' (B) ? 67, 156 an r\/

(C) T 71,050 (D) ?77,160 v o T

-

N
18. If you deposit T 4,000 into an account paying 6% annual interest compounde:..
1 GEPOSIT £ 2
will be in the account after 3 vears ?

quarterly, how much approx1mate nﬂey
> [Given that (1.015)%0=134489] A \”—“‘“é
(A) 7338742 (B) ?4387.42 o
/W 7 5387.42 (D) T 6387.42 Pv /M*"”

19. Relationship between annual nominal rate of interest and annual effective rate
of interest, if frequency of compounding is grt.utcr than one ‘ o i
(A) _ Effective rate < Nominal rate
Effective rate > Nominal rate
(C) Effective rate = Nominal rate
(F)) Effective rate = 0,9 timegy Nominal rate

20. Madhu invests T 15,000 i inag

hemg
became 225,000, 1 theme and at (he i
f CAGR for this mve%hne:lzw 2% maturity thc o
118 8 8RRy %,

or which she has i calculate the

6 years ~=-7 and log(] 089) = go377
(C) 5.5years (B) 7.7 ]
Years
(D) 7 years

G Scanned with OKEN Scanner



(A) T415,118 ¢
75,023,848

»
-

23.

24,

— L o el S A 7— S ': ‘\J‘ R s SR
Ll");*hx t‘lﬁ‘ﬁgc&%‘i ‘-1"’,’ k Tt SR S (
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NBD
How much aPProximate

-amoun ulate
2 20,00,000 by the should you save annually 1o accumu’

end of |2

)’Ldls i the s £14 (:rceﬂt
avin terest of 14 pe
compound annually 2 aving earns 8n in

[Given that (1.14)12 = 4.8179) -

(D) 1,11,200

Dinesh received a cagh bonus of ¥ | ,00,000 which he dep051ted in a bank

which pays 10 percent interest Compo;;(i;dﬁahnually How much approximate
equal amount can Dinesh w1thdraw annually for a perlod of 10 years ?

[Given that (1.1)10 = 2.59374) o

[l % 16273 ®) T3sse (Vo
D@ﬂ?@’m (D) ¥32474

Find the approximate future value of an annuity due of ¥ 500 per quarter ror 8
e ————————— e S S TS e S . e

vears and 9 months at the interest rate of 6% compounded quarterly.

(Given that (1.015)35 = 1.6839] | | -
—— . \\\‘ P
(A) Z13,740.86 (B) ¥29,428.23
(C) 756971.95 T 22,796.66
0.0 \ ¢

¢t e ovide cash inflows as tollows tor 3 vears
A project is expected 1o provide cash inflows as follows tor 3 vears
e

™

" )
Year | ' )

Cash Inflows (7) ! 40,000 50,000 30,000

What 15 the

o

The company's COst of capital or requited rate of teturn 14 149,

present value of cash inflows ol the Conp

- . @
(A) 299,240 / (M) T1.02.840

JYy 9115

(€) ¥1,12.640 NBD /Zﬁ}\ {
uorr?, + i—wwo € %
G lf) (=15) C‘g]
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e ters in “MISSISSIEPI” when

let
25. In how many of distinct pcrmutatlom of the A

fourl s do not comc, tog,ethu? \ ll »
(A) 34650 (B) 403?3 (u
©) 840 of 338

n
26. Out of 7 consonants and 4 vowels, how ma
2 vowels can be formed ?

g}, S0 B) 1050 jr@h .
|4ox" 25200 D) 2140 5

27. Seema, Bharati, Priyanka, Khusboo and Lalita ar?_._SSPeakers The number of

ways in which Seema will always spgalg before Bh_arat;fﬁﬂl o
4TS T @) 4ixal ) )
@5 Lo o b

T D) 12 ()U‘”

y words of 3 consonants and

_ B, A team of 3 persons is to be constltuted from a group of 2 men and 3w vomen.
In how many ways can this be done if these teams would conmst of 1 man and
2 women ?

w0 s 1T
© 16 ,

(D) 8
29. Find the '
€ sum of n termg of the A.p, whoqc nth term is Sy 4 L Q “
(A) 2
2 (B) 2n \\
7 0(7 4+ 5n) .
ol ’ (D) ‘.'«‘:(Za;;;izx)‘ o\

30. The sum of firgt three

termg of WGP g, 2
the fo“owing : ‘

8 1 |
not 4 lenn of the Gp

( J 7. W hmh of
A) 3 Ui » i

7 bers are msm\ '}
© 3 3

-~
| w -
A K23
NRn T

G Scanned with OKEN Scanner
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34,

38,

36.

T R T

)
NBD

S s

[nsert 4 numbers betwee
| \ ————xiWeen 2 ang 55
Arithmetic Progression (A p ). “7 sueh that the resulting sequence 15 89

NN
i (B - L 22
(©) 4,10,15,19 ) 59,13,17 0 b 7

6,10, 14,18 -
Find the sum of series | +l 1 Q2-2 L0
2+4+ ------ upto 6 terms. A ~
M63 . l 2 4 “:—"’_,'“"\ }
< 35 Sh=a dCn-1)d . 32 b T(= L
7c \ ®) & G =~ g
26 L+ (G- -~
© 53 2 (D 3 L -2
=h . S ' ) 26 6 7/\-3-» . o\ —~
—_— . y 2 2

Which of the following relations is transitive but not reflexive féi_ghe _Set
S=1(3,4,6} 2 =
2 R={(3,4),(4,6).(,6)} (B) R={(1,2),(1,3),(1, M)}
(C) R={(3,3),(4,4,(6,6)} (D) R={3,4),(43)}
X
IfA=1{1,2,3,4}, B= (2{4J6)8} and C= (3[2)5(6}) the value of A~ {B L C}
» ' —= .- ' = - .

() 11,2,3} e @B
f

V 1 (D) {0} u o, 6

The range of the function f(x) = 3x—218

L@()’( g ) S (B) R-{3)

(C) (o0, 0) (D) (0, )

im (2 =2 = 8)
Find the value of ‘,'”,"4 (x-4) )
(A) 0 (B) 2
©) 8 LA o
NBD
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37. Evaluate : f (3x—2)% dx. | _
(@104 ‘ (B) 100
© 10 (D) 52

38. Determine f(x), given that f'(x) = 12x%2 — 4x and f(-3) = 17 '

MﬂX)=4x3—2x2+ 143  B) f)=6x2-x4+137
(C) fx)=3x4-x3-137 . (D) f(x) = 4x3 — 22 — 143
dy et  el-et

39. Find o where x = 5 andy _= >

w:i ]
t : | 1
© e D

40. What is the differential function of \Vx2+2)?

A2 o LBy /x2x+ 5 &

(C) —=2—dx =
'\/JT—Z / (D) _'\/,\_-;’T_‘-)_-d‘. &

41, Idcntify the next number in the foll
%)
1 8,726,602, 122,212,

(A) 332 ,
(C) 356 w338 \_ \

(D) 362

owing series :

42. Find the missing number i, the given geri 2
- series ik '
“(ﬁ(d’ 1% 100, 180,204, 445 /
48 20 ;
(C) 56 Eg) 52 . |
- ) 64

& Scanned with OKEN Scanner
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43. Find the odd man out from the following :
445,221, 109, 46, 25,11, 4

(&) 25 Ly a6

(©) 109 (D) 221

44, In a certain code “CH4IR” is written as “GLSMV” How is “1N5T4GR4M” is

written in that code ? ‘
(A) 4HFIDSESN (B) 4P8W7JUBO

ey SRIXSKVSQ (D) SKF2E4GR4

45. A certain code “564” means “all the best”, “73@ means ‘Q.eft/of 1uc‘;1£ and

“@73” means “all i is lucly ‘Which of the followmg is the code for “1uck i
(A) 6 . - (\(B) 4)

cer’s D) 7

46. A man is facing North-West. He tumwrise direction, then
180° in the anticlockwise dlrectlon and then another 90° in the same direction.
Which direction is he facing no%ﬁ? T W W oN N &
(A) South (B) South-West | \ -

LLQ/South-East (D) East )
Cw) S

47, Rajni walked 20 m towards the North. Then she turned right and walks 30 m

Then she turng right and walks 35 m. Then she turns left and w alks 13 m

Finally she turng left and walks 15 m. In which direction and how manv

meters 1s she from the Hlm'!ing position

(A) 15 m West (B) 30 m Fast

(C) 30 m West \wM 45 m Fast T\\

NBD

G Scanned with OKEN Scanner
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P . ic as showing all the four
48. At a crossing, there was a direction pole, which was

correct directions, But due to the wind, it turns in such a n'mnn‘cr lh;x.l zowy

West pointer is showing South, Harish went in the wrong derCll()rT l, 1;1 ing

that he was travelling East, In which direction he was gctually Fr?vclllng ?
South e

) Nott e
(©) West .

v

__(D)—ast ).

49, Two cars start from the o
runs for 25 km and take

$ a right turn and then runs 1
and then runs for anothe

5 km. It then turns lef
T 25 km and then takes the direction back to reach the

distance between tWo cars
at this, point ? D ——
%s km B) 75 km.
(C) 80km (D) 85km. )(
30.

N
(A) South SR South-Wet -~
(C) North-East

UD)/South-Ezn(t }
.\A

Seven persons namely H, 1,0, K, M, N, O are Sitting in

persons pre
4o Total tw
dinte neighbow ol

51.

QR

N
A Stratpht lne facine

R

North direction, ‘T'otal Ihr'g:c number of Si(liup‘ between H and N
Both N and H sits at extreme side O Mumber o P

CIINN S Detween
H and O. M s not an imme

LR N 1 wigs i o the right of
M. Tand H both are not an immedinge neighbonss M alua DO AR Inmediate
neighbour of 1. Who is sitting between 1| A M "
(/\)’ “” (8]

Pposite places on a highway, 150 km apart. First car =~
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» A, B, C,Dand E are sitting on a bench. A is sitting next to B, C is sitting next
) to D, D is not sitting with E who is on the left end of the bench. C is on the
second position from the right. A is to the right of B and E. A and C are sitting

together. In what position A is sitting ?

(A) Between B and D {1_3)/B‘étween Band C o r o
(©) Between E and D (D) Between C and E e

[N
41

[n a class, there are seven students (including boys and girls) A, B, C, D, E, F
and G. They sit on three benches I, I and II1, such that atleast two students on
each bench and atleast one girl on each bench. C who is a girl student, does
not sit with A, E and D. F the boy student sits with only B. A sits on the bench
I'with his best friends. G sits on the bench III. E is the brother of C.

Which of the following is the group of girls ? .
(A) BCG - ® BEC g A D ¢

Ler Bep ' (D) CDF

34. Five boys A, B, C, D and E are sitting in a row. A is to the right of B and E is
to the left of B but to the right of C. A is to the left of D. Who is second from

. 4
the left end ? ‘ o~
oL ® S e
e .
(S <

55 Qix friends P. O, 1, S, T and U are sitting, around the hexagonal table each at

one corner and are facing the centre of the hexagonal, P is second to the lefy

W
U, O is neighbour of #and 8.1 in second (o the left of' s, ‘
Which one is sitting opposite to 1" D K 3 L:‘ C
Ay R (0 e T
o T o s
NBD o
b
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56. If“A # B” means A is father of B, “A * B” means A is brother of B, « A
means A is mother of B, then which of the following is correct about G tG @7y p
(A) G is mother of P. (B) Pis fatherof T. " K‘ }‘ :
“Tis son of G. (D) P is brother of T. N
57. Pointing to a photograph, Rajesh said, “He is Aarav and he is the 0 of gy
only daug_h\ter ‘of the father of ‘my brother”, how RaJesh is related to the

e T € Aargy

referred in the pEotograph ~

@3~Nephew (B) Brother
’ (C) Father M Maternal Uncle

58. Study the following information carefully :
°  A3P means A is the mother of P.

/4\P:eans A is the brother of P.
A9P'means A i is the husband of P.
\’\
e A5P means A is the daughter of P e , (D)(,U‘ S

Which L of the followmg n@;ﬁﬁ? K '1s the mother-m-law  of M ?
A) MON3K4J

(C) KS5I9M3N ‘ - (D) K3J9N4M

59. Q,W,E, R T and Y are members of a  family cons1stmg of two thldr“" o

How T i ig rclgted tg Q?  — Y - &«-\,
(A) Father (B) Brother l,. \‘ t
(&) Ncphcw M \OH L {K g

. G
60. Kig th € son of /(u nu"lhu t‘*&HI‘N(I () is daughter of' D, who is the flﬂl}:l ‘)
and grandfather of A, P is the (Iunplucl of H, who is grandmother of

husband of H and G is husband of L, How ig P related to Q7
(A) Mother Mislcr

b [
(C) Daughter . (D) Cousin

2 B R . NBD \
<

= ‘c;
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61.
graphically from

Musing Histogram
(B) By using frequency polygon
(C) By using ogive

(D) By using frequency curve

The mode of a continuous frequency distribution can be determined

62. Frequency density corresponding to a class interval for the continuous

B

frequency distribution, is the ratio of

(A) class frequency to the total frequency'
Lrb,zclass frequency td the class length

(C) class length to the class frequency

(D) class frequency to the cumulative frequency

o~

-
|
/'%

(X
1

—r

63. The curve obtained by joining the points, whose X co-ordinate< are the upper

limits of the class mtervals and Y co- ordmateS),l:e corre:pondm cumulanve

frequencies, is called
Ogive (B) Histogram

() Frequency polygon (D) Frequency curve

4. The following data relate to the wages of o g

Wages (in 7) Below 100 | Below 200 ’

' No. of workers :

15

I8
H 8 ' 0G5
OW many workers got wapes i
\X 3 S0 go £ES more thap 300 9
v 25 / '
‘‘‘‘‘ (“) »
© 90 o (n 03
”)) 7
W o
L% Nirn '

Toup of workegy -

Helow 100 |

Below 400 )

k}““
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06.

67.

68

.
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The law of statistical regularity says that
(A) Sample drawn from the population under discussion possesses the
characteristics of population.
(B) A large sample drawn at random from the population would possess the
characteristics of the population.
19/\ large sample drawn at random from the population would possess the
characteristics of the population on an average.

(D) An optimum level of efficiency can be attained at a minimum cost.

A population comprises 5 members. The number of possible samples of size 2,
that can be drawn from it with replacement is
(A) 100 B) 15
© 125 e 2

Which of the following statements about simple random sampling isNOT mue”

(A) Simple random sampling ensures that each unit in the population has 2n

equal chance of being selected.
(B) In simple random sampling with replacement, each selected unit =
“replaced to the population before the next unit is drawn.
(&1 Simple random sampling is highly effective when the population is ven
large and heterogencous,

D) In a simple ri ampling wi '
(D) In a simple random sampling without replacement, a unit s selected, o
will never be selected again,

. A frequency curve which g

tarts with a mini ) *
§ ! minimum frequency radually
reaches its m Juency and then graduali)

aximum frequency at the othe

I extremity-is known as
(A) Bell shaped curye y-is known as

(B) Mixed curve

(/9) U-shaped curve
. W{ J-shaped curve
NBD

.

o,
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71

74,
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In tabulation, source of data, if‘a-ny, ’isA shown in the
Footnote (B) Body
(C) Stub (D) Caption

A helicopter flies from A to B at the rate of 500 km/hr and comes back at the

rate 700 km/hr. The average speed Zit:?copter TS
(A) 600 kmv/hr. &AB)~ 583.33 km/hr.

(©) 10035 knvhr. (D) 620 km/hr.

If Arithmetic Mean (AM.) and Geometrlc Mean (G‘M‘)’ of two numbers are
6.50 and 6 respectively, then the two nm

(A) 6and7 9 and 4
(C) 10and3 (D) 8and5

Which of the following is s 1ot a method of dlspers1on ?
(A) Standard deviation

(B) Mean dewanon

(C) Range O C ‘Concurrent deviation method
¢ z .
Find out co-efficient of variation, if N = 4, ¥ fy = 280 and o(S.D) = 1
@4\/0 M ~
(C) 4.67 (D) Zero ‘ > S .
The

Shemonthly profit/loss for six months of the

| firm s a8 undey
;\M Onths

Tanuary February Mureh

| AL | May ]
'p } .‘l‘ | 2l
tlrnm/low(in Dyl 1,000 900 0 ‘U()! M lune |

' - 400 | |
The ¢o. -efficient rzul&'t nt HIL nhuvc data ig ' - 1’ 2.000 |
A) 123 P | ’
©) 3333 =

o (D) 5555
NBD
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75. Which one of the following is the absolute measure of dispersiop, for
i . s - Oben
ended distributions ? o
Range (B) Standard deviation

(€)  Mean deviation (1 Quartile deviation

76. 1f the mean of the following frequency distribution is 2.6, then the val,. ..

1s

' Marks (X)

' No. of Students (f) :

L« 16

© 26

ad o e

77. Which one of the following measures of central tendency is basad oz
fifty percent (50%) of the central values ?
(A) Geometric Mean ' (B) Harmonic Mean

wf Median (D) Mode

78. The Arithmetic Mean (A.M.) and mode of the data are 32 and 26, respeeind!
then find the median of the data,

)y 30 By 12

(cy 6 (D) 29

79, Find out the mode from the following data

100, 110, 125,225,325, 125,90, K0, 455 175 | 2%

Ay 325
(A) ’ () 110
(C) 455 ‘/
128
%]
NRBD
3
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81.

82.

(19)

NBD
d the probability that the sum of

ice are thrown simultaneously. Fin

digits on the two dice would be 8 or more.
S 5
(W) 13 e
S 7
© 36 D) 13

A number is selected from the first 20 natural numbers. Fiﬁd the prbbability

PR

that it would be divisible by 3 or 7.

7 g

= 12
(A) 29 (B) 37

%
© & (e

A father had three sons namely, Kailash, Harish and Prakash. A1)
years in age. Prakash happens to be the eldest while Kailasl; are above 65
per the health history, it is estimated that the probability that Izs youngest. As
ailash surviy
‘ves

. 4 .
another 5 years 18 %, Harish survives another 5 years is 3 and
5 and Prakash suryiy os

a[l()t]ler 5 years 1S 2. The probabilities that dilaS 1 ri
K ll an 1sh Slll'\'i\-’c ﬂ.nothe,r

5 years is 0.46, Harish and Prakash survive another 5 years is ( 3
NN \‘ ’) {
-2< and Kailash

and Prakash survive another 5 years is 0.48. The probability that a)
at all three sop
S

e another 5 years is 0.20. What shall be the probability that at |
at at least o
ne

surviv

of them survives another 5 years ?

(A) 0.78 | (B) 0.72
© 7To | 10
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83. In a class, there are 15 boys and 10 girls. Three students are §

84.

85.

86.

87.

(20)
NBD

elected 4
random. The probability that 1 girl and 2 boys are selected ig

25
2 ®
3
© % D) 55

Two cards are drawn from a pack of 52 cards. The

probability that one js a
spade and one is a heart; is

3 29
A 30 ®) 34
47 13
© 100 (DLAG;

A problem is given to 5 students P, Q, R, S and T. If the probability of solving
.11 21 1 .
the ‘problem individually is >3 33 and ¢ Trespectively, then find the

probability that the problem is solved.

(A) 047 aBy0.93

(C) 0.57 o (D) 027

i e ave O

In a leap year, what is the probability that there will be 53 Sundays ?
53 o L
™) 365 B) 7
3 bl

© 3 r;

Poisson probability distribution is appropriately applied in
(A) The height of stude

nts in the university.
(B) The

istrib g . . Lty examinations.
distribution of passing of students in university examii

(C Tossing of a coin hundred times.
Number of deaths by a rare disease.

-
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3 ~ . S ¢ Stan a
88. 1If the points of inflexion of a normal curve are 6 and 14, then
deviation of the distribution is J’l -0 = -
®) 8 pre s 1
© 917 (D) 32 -

89. What is the probability of making 3 corrected guesses in 5 True-False answer

2
ype guestions 7 / o
ST e S 8T )

(C) 1.3888 (D) 0.5235

90. If 5% of the families in large population city do not use gas as a fuel, what will
be the probability of selecting 10 families in a random sample of 100 families
who do not use gas as a fuel ?

[Given that 75 = 0.0067]
(A) 0.038 (B) Zero

o (D) 0.048

91. The correlation co-efficient between X and Y is 0.8. If we add a number 10
er

the X variable and subtracted 20 from Y variable, then the new i n
at

co-cfficient will be 10n
(A) 0.4 (B) 0.6

() 0.9 D) A

92. When both the regression co-efficlents are by = 07 and |
respectively, then correlation co-efficient between x ang y ¥ = 08,
) W, ;
0.75 (B) 0.56 —
(©) 0.28 (D) 0.87
; NBD
Q
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93.

94.

95.

96.

97.

(22)
NBD

For 9 college students group, the sum of squares of differences in
History and Hindi marks was found to be 62, then what is the valy,
correlation co-efficient ?

A) 1 &‘){.48

ranks for
€ of rank

(©) 0.52 (D) 0.87
Ifr=0.7, then co-efficient of noﬁ-determin ion is
(A) 0.49 MSI
(©) Zero D) 0.71

Givenx=2y+4andy=kx+6arethetwoli

¥ on x respectively. If the value of correlation ¢
value of k is

pA ®)

© 3 O

nes of regression x on y and
o-efficient (r) is 0.5, then the

\-7

N— A=

o

If Zp q, = 249, Zpoqg = 150, 2p,do = 145 and Paasche’s Index Number = 150,
then Fisher’s Ideal Price Index Number is
(A)- 75 (B) 1269

0.62 ‘ (D) 171

From the following data, find out an Index number for 2022 taking 2021 as
base (using simple aggregative method) ;

LCommodltIen " Price in 2021 |‘||u|n2022
A 80 120
t B 20 | 200
L C 300 B 400
(A) 100 ‘ Lo 120
(C) 108 (D) 190
NBD
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(23)
NBD
t new
ing chain bage index numbers based on 2015, find ou

number for the year 2022 by shifting the base year 2019.

_ i
Years * /2015 2016 2017 2018( 2019/] 2020 [2021 ?2022 |
Index No. ;

98. From the follow

chain base index

i
00 | 105 | 95 | g5 120 | 110 13011 150
(Base 2015) |
125 (B) 180
© 100 D) 150

The prices of 3 commodity in the years 2015
respectively. Price relative of 2015 on 2020 is

(2 N
(a) 100 B) 110 _

®) 120

and 2020 were 50 and 50
o>—

'

—




